Lecture 3 - parametrlc models

eeeeeeeeeeeeeeeeeeeeeeeeeee

Flay - @fm?ﬁws
J@qm‘rmﬁ@ \g:j do?'- plyla)= 'ﬁ)gg
VI

(\u)= ( \13 h)
R\ y) % =7 e = plh=) ple) = <19 ol

“prs fody”
w sV hanng conen | Ymer massuuomen :“-“)

Chen ol © = sussive opplichn {y,/_t_idgﬁ_
('I, 7h7 P(Ih( Ayn- \>p m-)

Qfmlffsn; P(%‘ n~;z

’x\, ,xn /ﬂ( Qx\ (. m) Comedbeny:  [:0=F
(= x](ul [7C¢> ({9(:()

LCon ol 0(“’029:‘3{0' cm\vc?m' gl

[ & o direcid Apeghicd M»«UU
Q[%i | %z = V(I? | ‘Ia()
B Xl ods idop. € gquen Z okt XLV [ 2
<’S7 g‘)(’xd f%) k[Z) pdlZ) ‘g[xeﬂx
’v’; elz o V(Z);!C)

M«my*m v
4)32/\036(5 Ve wader ¢ VI‘OIC M Yhvie = P[xlﬂta) - p(I’Z)
T/WW GM'Q% C( XUy = P(xl‘j) xf(x)J



Me: 2= Wicoher ey mother cawnis a&w‘fodlséqie,

Xodﬂgﬁl\i has dised XUy |z
V= 19 ko

W2 how, X o it gl cap” o
yg S’?Oy (e, >4,JX>/> Qld st Q(x,s)ip(x)ﬂy)
\)('sz‘jl?»’) = p(x(%)p@(z)vk)
Wc{ pamii lp 0N, ot ave yiff ousbullly vdopeadoit
X"‘Caingﬁpa) ioig %: ‘zéyg‘,ry

Y S anlha, Ulap. cin-Fip 24y
} ALy 2 1%
2 JL/(YDO
MVH’_,/M% a bV
EDQLZ xpe) (G e t02)

2€&SLy

_g—;fp(xbh (0 . n) "

BS)

BLT ® oluen quebr =) E[ax/+§/J = Bl + Bly7
S
\ToomQ, *
V[ 2B (X-kpa)? ] nasing f dususion” 0= [Vay
< B - (8% B0

M,d%—&&m Cu:cg X 3 Fx%);?%Y${:j (Sj\é‘P(z\dKB

\CLFL@/:( —> (frads, 4.
a x p'x) ¥ u)

L=

{5h%0



fpromelic vilds
b iy i fron it
% - % PC'Iﬁ)lee@E KW i, JZY

\/Y:) .'S )
Q%'%M/Mg‘s (5% @@‘0@66@
dopd N promilin & (-t dnp)

dlouse § feahen = % Q(x’,ﬁ) Iée@\?

b b {\o[Y;G)[Ge\@j worls: Ny <5018 gfa%gxp

L= o0 é’ A Qompa
pdahen: X~ B(6) gy
f\(‘v\\! ¥ (o didhobdg| as a bovnnif); di- wih M 61
le,@) an(xjg) L8756 e 7918

% o dst

boadl, > o, of @ iRy Qe=t9)2f  @=[0)]
\9(’1:! Y=6 Bagsen  PEx=1(6% > ©
Vel% ol
Ex] =6
\m[3= 8(1-6)

padhw vaml:

a2

Vo, &
(7 (10)= N(xs (1 :ATL [~ lz)?
Pl (ue)) . ) L, ol )

V(= [/w*")

V\&"e_\ Cain-Rpo
#ap. Verrles) ol : : oud aabgall, skl
@n [@ , W\““%)W ‘ m% A

W . r. \in <




iy tellry Ky Ma o

bt XEZY: o e bae X bin (n,6)
~ “owid) dist. Gl paoncfin 1 46
ki !’
Q= 5011 03 e
" P)@"GC?C;/6>36 (&) 7 2=z
Pl s plje)e (Sl | NN < NP
ELTT g ming - el

1 ways by -
et il (2)4.0
* ) o=
"N dhese %
Won Y:Zk‘-

FM;\éEDfﬂ: ne
sindaly | Vor (£7) 20 Z valx:) = &(16)
LAV Ly Q= Toyt, 7=V Tcont T
Wien

Moon \odody,

Comosgn o Ld N{/f/gi) By 3

Gpmi, Plong) Ry
shvz ngch ke (e ( :
an Qé vm%%% %

oton , Cauc W dgt Vb dit. 5 oo Didends
Al > Ly 0l p) / Lo Ot SZWE’”



